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7 I 4 K| 10000| 2674 227 234 221 111 253 99 108 232
EH15%F1HA 97.6 98.5 97.6 97.1 99.0 95.3( 104.1| 1085 96.5 95.2
2 975 98.4 98.7 95.5 99.8 96.5( 106.0 98.5 95.3 95.9
3 97.8 98.1 97.6 98.5( 100.8 96.1 1023 94.6 96.9 95.5
4 97.9 97.9 97.9 96.7( 100.2 96.5( 105.6 90.9 95.9 95.7
5 98.2 98.4 98.4 96.1( 100.8 96.3 106.5| 102.8 96.8 96.4
6 98.1 98.4 97.5 95.9( 100.3 96.4( 106.3| 1159 97.6 945
7 97.9 98.0 97.3 95.6( 104.5 95.8( 1074 95.7 96.4 943
8 98.1 98.3 97.0 98.0( 1029 94.1( 111.6| 1046 94.7 95.4
9 98.1 98.4 97.5 95.5( 102.6 96.4( 109.9| 106.8 971 96.7
10 97.8 97.6 96.8 97.9( 1024 94.7( 103.8 99.5 95.6 974
11 97.6 96.6( 1014 96.4 99.6 928 97.9 94.5 93.7 96.4
12 97.7 97.3[ 1034 98.7 101.7 93.8 99.6 921 95.7 96.0
i ﬁfg 1?5,5 g 97.9 98.0 98.4 96.8( 101.2 954 105.1| 1004 96.0 95.8
B £ tb (%) -0.3 0.1 -0.4 -2.5 6.8 -24 3.6 49 -1.2 -0.7
1A -04 0.6 -1.3 -0.2 2.1 -14 3.2 58 -1.4 -0.3
2 -0.1 -0.1 1.1 -1.6 0.8 1.3 1.8 -9.2 -1.2 0.7
i 3 03 -0.3 -11 3.1 1.0 -0.4 -3.5 -4.0 1.7 -0.4
4 0.1 -0.2 03 -1.8 -0.6 0.4 3.2 -39 -1.0 0.2
A 5 03 05 05 -0.6 0.6 -0.2 0.9 13.1 0.9 0.7
6 -0.1 0.0 -0.9 -0.2 -0.5 0.1 -0.2 12.7 0.8 -2.0
4 7 -0.2 -0.4 -0.2 -0.3 42 -0.6 10| -174 -1.2 -0.2
;; 8 0.2 03 -0.3 2.5 -1.5 -1.8 3.9 9.3 -1.8 1.2
_ 9 0.0 0.1 05 -2.6 -0.3 24 -1.5 21 2.5 1.4
10 -0.3 -0.8 -0.7 2.5 -0.2 -1.8 -5.6 -6.8 -1.5 0.7
11 -0.2 -1.0 48 -1.5 -2.7 -2.0 -5.7 -5.0 -2.0 -1.0
12 0.1 0.7 2.0 24 2.1 1.1 1.7 -2.5 2.1 -04
1A -0.8 0.2 -2.3 —-6.2 6.0 -1.1 4.0 17.0 -3.0 -2.2
2 -0.3 0.8 -0.4 -2.8 5.6 -0.5 11.0 9.0 -3.5 -1.7
i 3 -0.3 0.9 -0.5 -11 6.2 -24 11.7 6.3 -2.1 -1.8
T 4 -0.2 0.9 -141 -29 8.1 -0.2 10.2 21 -1.7 -1.4
&l 5 -0.5 -0.1 -0.2 -3.2 6.8 -3.6 34 1.2 -1.3 -0.5
A 6 -04 03 -141 -34 6.8 -1.1 0.9 215 0.0 -2.1
4 7 -0.2 0.1 -141 -4.8 10.9 -2.7 4.7 1.5 -0.5 -2.5
;; 8 -0.2 -0.5 -1.3 -2.6 8.2 -34 1.2 1.8 -0.8 -0.9
_ 9 0.0 0.2 -1.7 -24 8.9 -1.6 24 6.3 40 1.0
10 -0.2 -0.1 -1.7 -0.7 5.7 -3.6 22 11 -0.4 2.0
11 -0.3 -1.0 23 -0.7 40 -4.8 -4.2 -2.3 -24 0.8
12 -0.3 -0.6 4.6 1.4 4.8 -3.0 -1.3] -10.2 -2.2 0.5
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TRE154F 1A 1002 914 972 989 101.3| 1019 968 973| 963| 934
2 988/ 910| 993| 989 101.3| 101.9| 96.7| 974| 963 934
3 991 904| 99.1| 989 101.3| 101.9| 96.7| 974| 963 934
4 983| 889 992| 986| 1006| 101.2| 96.6| 976/ 965 934
5 98.1| 884| 976/ 986| 101.3| 101.9| 96.7| 976| 965 934
6 980 851| 974| 986| 101.2[ 101.9| 96.7| 976| 965 934
7 96.7| 857 976/ 989 101.2[ 1020| 96.1| 976| 965 934
8 960 832 947| 989 101.3| 1020| 96.1| 976| 965 934
9 96.7| 839| 942| 989 1006| 101.2| 96.1| 976| 965 934
10 96.2| 842 940/ 989 1005 101.2| 957| 976| 965 934
11 96.2| 832 938/ 989 1008| 1015 956| 975 965 934
12 95.1| 841 941| 989| 1009| 101.6| 957| 975| 965 934
i ?,] 1?55 g 975| 866 965| 988| 1010 101.7] 96.3| 975 965 934
Bl £ b (%) -03| -78| -23 02| -04| -02| -10| -11| -15/ -27
1A 21| -02 0.0 0.2 0.0 0.0 0.0 0.0 0.0 0.0
2 -14| -04 2.2 0.0 0.0 00| -01 0.1 0.0 0.0
#i 3 03| -07[ -02 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4 -08| -17 01| -03| -07[ -07| -01 0.2 0.2 0.0
A 5 -02| -06| -16 0.0 0.7 0.7 0.1 0.0 0.0 0.0
6 -01| -37| -02 00| -0 0.0 0.0 0.0 0.0 0.0
ke 7 -13 0.7 0.2 03 0.0 01| -06 0.0 0.0 0.0
02 8 -07| -29| -30 0.0 0.1 0.0 0.0 0.0 0.0 0.0
Z 9 0.7 08| -05 00| -07| -08 0.0 0.0 0.0 0.0
10 -05 04| -02 00| -0 00| -04 0.0 0.0 0.0
11 00| -12| -02 0.0 03 03| -01| -0.1 0.0 0.0
12 -1.1 1.1 0.3 0.0 0.1 0.1 0.1 0.0 0.0 0.0
1R 16| -62| -26 12| -04| -03| -12| -19| -24| -37
2 -01| -66| -05 03| -0 00| -13| -17| -24| -37
#i 3 03| -67| -07 03| -0 01| -12| -17| -24| -37
& 4 04| -70/ -06 07| -04| -03| -06| -13| -19| -34
Bl 5 -02| -61| -22| -01| -01| -01| -05| -13| -19| -34
A 6 06/ -90/ -06| -01| -01 00| -03| -13| -19| -34
ke 7 -04| -85 -19 00| -0 01| -09| -13| -19| -34
02 8 -05| -105| -32 02| -0 00| -11| -13| -19| -34
Z 9 -03| -91| -53 02| -08| -08| -15| -13| -19| -34
10 -09| -76| -33 02| -08| -08| -1.1 03 0.2 0.0
11 -15/ -82| -35 02| -05| -04| -12 0.2 0.2 0.0
12 -31| -82] -32 02| -04/ -03| -1.1 0.2 0.2 0.0
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7 I 4 b+ 17 25 155 422 115 48 42 102 76 38

1541 A| 1010 99.8| 100.0 918 70.9| 10241 89.6| 100.2| 102.7( 100.0

2 101.0] 1025 100.0 918 69.8| 1021 89.6| 100.7| 104.0( 100.0
3 101.0] 1025 100.0 91.7 70.0| 1021 89.1| 100.4| 103.4( 100.0
4 101.5| 1025 100.0 914 70.2| 10241 90.4| 100.1| 101.2( 100.0
5 101.5| 102.5| 100.0 91.7 69.9| 1021 91.7| 100.8| 101.9( 100.0
6 101.5| 1025 100.0 913 68.2| 102.0 91.7| 101.2] 101.5( 100.0
7 101.5| 102.5| 100.0 90.9 67.5| 101.8 91.7| 100.1| 102.1| 100.0
8 101.5| 102.5| 100.0 90.6 66.3| 101.8 913 99.3( 103.6| 1000
9 101.5| 102.5| 100.0 90.7 65.7| 101.8 924 99.5( 104.0f 1000
10 101.5| 1025 1000| 89.5 62.7) 1018 924 98.5( 103.3| 1000
11 101.5| 101.2] 1000| 89.6 62.2| 101.0 928 1029 99.1( 100.0
12 101.5] 101.2f 1000| 89.7 61.2 975 928 1029| 103.2[ 100.0

i ﬁfg 1?5,5 g 101.4| 102.1] 100.0 90.9 67.1] 1015 91.3| 100.6| 102.5| 100.0
B £ tb (%) 0.1 20 0.0 -2.6( -10.5 -21 0.7 -0.9 1.1 0.0
1H 0.0 0.0 0.0 0.2 2.0 0.0 -2.2 -0.5 0.8 0.0

2 0.0 2.7 0.0 0.0 -1.6 0.0 0.0 0.5 1.3 0.0

i 3 0.0 0.0 0.0 -0.1 0.3 0.0 -0.6 -0.3 -0.6 0.0
4 0.5 0.0 0.0 -0.3 0.3 0.0 1.5 -0.3 -21 0.0

J=| 5 0.0 0.0 0.0 0.3 -04 0.0 14 0.7 0.7 0.0
6 0.0 0.0 0.0 -04 -24| -01 0.0 04 -04 0.0

Lt 7 0.0 0.0 0.0 -04 -1.0 -0.2 0.0 -11 0.6 0.0
;; 8 0.0 0.0 0.0 -0.3 -1.8 0.0 -04 -0.8 1.5 0.0
_ 9 0.0 0.0 0.0 0.1 -0.9 0.0 1.2 0.2 04 0.0
10 0.0 0.0 0.0 -1.3 -4.6 0.0 0.0 -10 -0.7 0.0

11 0.0 -1.3 0.0 0.1 -0.8 -0.8 0.4 45 -41 0.0

12 0.0 0.0 0.0 0.1 -1.6 -3.5 0.0 0.0 41 0.0

1A -0.7 2.2 0.0 -2.7( -109 -1.2 0.2 -1.6 2.1 0.0

2 -0.7 1.8 0.0 -2.1 -10.5 -1.2 -0.3 -11 43 0.0

i 3 -0.5 2.1 0.0 -2.6( -108 -1.2 -0.9 -1.6 2.6 0.0
T 4 0.2 2.7 0.0 -2.8 -10.6 -20 0.6 -1.3 0.6 0.0
&l 5 0.2 2.7 0.0 -24| -108 -20 0.9 -0.6 1.7 0.0
A 6 0.2 2.7 0.0 -3.2 -126 -21 0.9 -0.2 -10 0.0
Lt 7 0.2 2.7 0.0 -29( -10.0 -23 0.9 -1.3 -10 0.0
;; 8 0.2 2.7 0.0 -2.6 -8.6 -23 0.7 -2.6 0.8 0.0
_ 9 0.2 2.7 0.0 -2.1 -6.5 -23 0.5 -25 0.8 0.0
10 0.5 2.7 0.0 -3.6| -13.0 =21 0.9 =31 14 0.0

11 0.5 14 0.0 -1.8[ -10.5 =11 1.6 2.3 -0.9 0.0

12 0.5 1.4 0.0 -2.1| -11.9 -4.5 1.3 2.2 1.3 0.0
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Fri1541 8] 882 823] 950 812] 871 822| 1000| 978 1009 959
2 869| 803| 950 790 862 811| 999 976 998/ 910
3 905| 878| 950| 872 870 825/ 990 978 996 904
4 932| 90.1| 950| 897 929| 906| 990/ 978 999| 904
5 945 923| 950 920 938| 919| 990 978 997\ 904
6 943| 921| 950 919 953| 938| 995 931 998 904
7 911| 880| 950/ 874 889 850/ 995 984 987 830
8 887| 851| 905 846 851| 797 995 987 986 810
9 939| 917/ 950 915 910| 880| 990| 1024 995/ 910
10 936| 918/ 950 915 897 862| 990| 1023| 995/ 910
11 950/ 955/ 950 955 890| 846 1006 102.3| 995/ 910
12 954/ 959| 950 960/ 893| 853| 1000| 1027 995/ 910
; ?,] 1?.; g 921| 894| 946| 890 896 859| 995 99.1| 996 897
BT (%) | -19| -25| -04| -26| -24| -34| -02| 07| -18/ -108
18| -82| -142| oo| -154] -65| -91| -06] 00| -02| -25
2 -15| -24| 00| -27| -10| -13| -01| -02| -11| -5.1
- 3 41 93| 00| 104 09| 17/ -09| 02| -02| -07
4 30| 26| 00| 29/ 68 98 00| 00/ 03 00
A 5 14| 24| ool 26| 10| 14| 00| 00| -02| 00
6 -02| -02| 00| -o01 16| 2.1 05| -48/ 0.1 00
Lt 7 -34| -45| oo0| -49| -67| -94| o0l 57| -11| -82
= 8 -26| -33| -47| -32| -43| -62| 00| 03] -01| -24
% 9 59| 78| 50| 82 69| 104| -05 37| 09| 123
10 -03| 0.1 0ol 00| -14| -20/ 00| -01 00| 00
11 15 40| ool 44| -08] -19| 16| 00| 00| 00
12 04 04/ 00| 05 03 08 -06 04 00/ 00
18| -34] -55 ool -61] -28] -50] 21| -12{ -04] -28
2 -31| -55 00| -61| -17| -28| 07| -11] -14| -8.1
- 3 -31| -53| 00| -57| -16| -23| -02| -09| -14| -87
= 4 -36| -49| 00| -52| -42| -58 -02| 07| -20| -13.1
5 5 -30| -35| 00| -39/ -39/ -51| -07| -06| -22| -13.1
A 6 -25| -22| o0l -23| -21| -25| -06| -59| -20| -13.1
Lt 7 -12| -06| 00| -06| -16| -20/ -06| -05| -29| -202
> 8 -03| 04| -47 08/ 00| 03| -06/ -02| -26| -182
% 9 03| -09| 00| -09| 19| 30| -08 35/ -15| -84
10 -15| -17| ool -19| -37| -46| -1.1 46| -20| -84
11 -12| -05| 00| -06| -45| -64| 00| 46| -17| -75
12 -07| 00| o0/ 00| -42| -56] -06] 50/ -16] -75
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1541 A| 1019 1013 99.8| 100.2 874 1042 973 99.6 98.7 933

2 101.0] 1013 99.8| 100.2 874 1042 97.6 994 99.2 933
3 100.9| 1013 99.8| 100.2 873 104.2 98.3| 100.6| 100.3 933
4 101.4| 1013 1039 99.5 872 1132 97.9 99.6 99.8 933
5 101.1] 1013 103.7 99.5 85.9( 1132 97.9 99.6 99.8 933
6 101.3| 101.3| 103.6 99.5 85.9( 113.0 97.6 99.6 99.3 933
7 101.0] 101.3| 103.6 99.5 85.9( 113.0 97.9( 100.9 99.3 933
8 101.5| 101.0( 103.6 99.5 858 113.0 98.2| 1038 990 933
9 100.7| 101.0({ 103.7 99.5 86.5 113.0 974 99.5 990 933
10 100.7| 101.0{ 103.5 99.5 854 113.0 97.5( 100.2 990 93.1
11 100.7| 101.0({ 103.6 99.5 86.2 113.0 97.4( 100.1 98.8 93.1
12 100.7] 101.0f 1033 99.5 845 113.0 97.2] 100.7 98.3 929

i ﬁfg 1?5,5 g 101.1( 101.2] 1027 99.7 86.3] 1108 97.71 100.3 99.2 93.2
B £ tb (%) -0.5 -0.2 28 0.0 -8.3 8.5 0.2 0.1 0.3 -0.2
1H 0.3 0.0 -01 0.0 -0.6 0.0 0.1 -0.3 0.2 0.0

2 -0.9 0.0 0.0 0.0 0.0 0.0 0.3 -0.2 0.5 0.0

i 3 -01 0.0 0.0 0.0 -0.1 0.0 0.7 1.2 1.1 0.0
4 0.5 0.0 41 -0.7 -0.1 8.6 -04 -10 -0.5 0.0

J=| 5 -0.3 0.0 -0.2 0.0 -15 0.0 0.0 0.0 0.0 0.0
6 0.2 0.0 -01 0.0 0.0 -0.2 -0.3 0.0 -0.5 0.0

Lt 7 -0.3 0.0 0.0 0.0 0.0 0.0 0.3 1.3 0.0 0.0
;; 8 0.5 -0.3 0.0 0.0 -0.1 0.0 0.3 29 -0.3 0.0
_ 9 -0.8 0.0 0.1 0.0 0.8 0.0 -0.8 -41 0.0 0.0
10 0.0 0.0 -0.2 0.0 -1.3 0.0 0.1 0.7 0.0 -0.2

11 0.0 0.0 0.1 0.0 0.9 0.0 -01 -01 -0.2 0.0

12 0.0 0.0 -0.3 0.0 -20 0.0 -0.2 0.6 -0.5 -0.2

1H 0.0 -0.2 -14 0.7] -12.2 13 -05 -04 -0.7 -0.3

2 -0.6 -0.2 -1.1 0.7] -11.0 13 0.2 -0.5 0.5 -0.2

i 3 -0.3 -0.2 -1.3 0.7] -11.7 13 0.9 -0.2 1.9 -0.2
T 4 -0.2 -0.2 4.1 02| -11.1 12.4 0.7 -0.2 1.3 0.0
&l 5 -0.6 0.0 42 01 -11.2 12.4 0.1 -04 04 -0.1
A 6 -0.3 0.0 44 04| -10.1 12.2 -0.2 -01 -04 0.0
Lt 7 -04 0.0 5.0 0.2 -6.8 12.2 0.2 0.6 -041 0.3
;; 8 -0.2 -0.3 44 -0.7 -8.3 12.2 0.1 0.6 0.0 0.0
_ 9 -0.6 -0.3 5.8 -0.7 -0.6 12.2 0.1 0.0 0.2 -0.1
10 -1.5 -0.3 3.0 -0.7 6.4 8.4 0.2 0.7 0.2 -0.2

11 -10 -0.3 3.2 -0.7 -5.1 8.4 0.2 0.9 0.1 -0.2

12 -0.9 -0.3 3.4 -0.7 -3.9 8.4 0.0 0.8 -0.2 -04
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T 4 K 305 234 15 55 1144 124 281 178 562 580
Erk15% 18| 1036 1039 1035 1028 93.8 56.1 96.4] 1004 98.7 99.8
2 103.6] 103.9| 103.5( 102.8 93.2 54.3 97.1] 1004 97.6 99.8
3 103.6] 103.9| 103.5( 102.8 93.3 54.0 96.8] 100.3 98.1] 100.2
4 104.2| 104.7| 102.6( 102.8 93.3 53.9 97.0] 100.3 979 100.5
5 104.11 1045 102.6( 102.8 93.7 53.5 98.3] 1004 98.1 99.9
6 104.11 1045 102.6( 102.8 934 51.3 97.4] 1004 98.5| 100.0
7 104.11 1045 102.6( 102.8 93.7 50.9 96.3] 100.6 99.7] 101.3
8 104.11 1045 102.6( 102.8 95.2 52.0 970/ 1009| 101.9| 1011
9 104.11 1045 102.6( 102.8 93.9 51.2 96.8] 100.6 99.6] 101.7
10 104.11 1045 102.6( 102.8 93.8 51.3 97.6] 100.7 99.1] 1014
11 104.11 1045 102.6( 102.8 93.1 50.2 97.3] 100.6 98.1] 101.6
12 104.1] 1045 102.6( 102.8 93.1 50.5 96.7] 100.7 98.3] 1014
i ﬁf,ﬂ 1?5,5 g 1040/ 104.4| 102.8| 1028 93.6 524 97.1 100.5 98.8| 100.7
Bl & Ltk (%) 0.6 0.7 0.0 0.3 -1.6( -16.8 04 0.2 -0.9 0.9
1H 0.0 0.0 0.0 0.0 -04 -3.3 1.0 -0.1 -0.9 0.2
2 0.0 0.0 0.0 0.0 -0.6 -3.2 0.7 0.0 -1.1 0.0
i 3 0.0 0.0 0.0 0.0 0.1 -0.6 -0.3 -0.1 0.5 04
4 0.6 0.8 -0.9 0.0 0.0 -0.2 0.2 0.0 -0.2 0.3
=] 5 -0.1 -0.2 0.0 0.0 04 -0.7 1.3 0.1 0.2 -0.6
6 0.0 0.0 0.0 0.0 -0.3 -41 -0.9 0.0 04 0.1
Lt 7 0.0 0.0 0.0 0.0 0.3 -0.8 -1.1 0.2 1.2 1.3
;2) 8 0.0 0.0 0.0 0.0 1.6 2.2 0.7 0.3 2.2 -0.2
_ 9 0.0 0.0 0.0 0.0 -14 -15 -0.2 -0.3 -2.3 0.6
10 0.0 0.0 0.0 0.0 -0.1 0.2 0.8 0.1 -0.5 -0.3
11 0.0 0.0 0.0 0.0 -0.7 -2.1 -0.3 -0.1 -1.0 0.2
12 0.0 0.0 0.0 0.0 0.0 0.6 -0.6 0.1 0.2 -0.2
1H 1.0 1.0 1.8 1.2 =21 -146 -2.1 0.0 -0.9 -0.1
2 1.0 1.0 1.8 1.2 -19| -146 -0.9 0.1 -1.1 0.3
i 3 1.0 1.0 1.8 1.2 =21 -173 -1.1 0.2 -1.1 0.1
& 4 0.6 0.8 09 0.0 =22 -173 -0.7 0.1 -14 0.5
[&] 5 0.5 0.6 09 0.0 -1.8] -179 -0.1 0.1 -1.0 -0.1
J=| 6 0.5 0.6 -0.9 0.0 20| -214 0.5 0.1 -1.0 0.1
Lt 7 0.5 0.6 -0.9 0.0 -1.7] -21.2 0.6 04 -0.6 14
;2) 8 0.5 0.6 -0.9 0.0 -09| -164 0.8 04 -0.2 1.2
- 9 0.5 0.6 -0.9 0.0 -0.8| -16.1 1.8 0.3 -0.6 1.9
10 0.5 0.6 -0.9 0.0 -0.5] -139 24 0.1 -04 1.6
11 0.5 0.6 -0.9 0.0 -1.1] -16.3 2.3 0.3 -1.1 20
12 0.5 0.6 -0.9 0.0 -1.2] -129 14 0.2 -1.3 1.8
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TR15F1A 97.6 99.9| 102.0f 1000 98.7| 103.7 96.3| 107.6| 108.8 974 96.9

2 97.6 99.9| 102.0f 1000 98.7| 100.8 943 108.8 98.2 973 96.7
3 97.6 99.8| 103.8| 1000 98.7 989 98.8( 1023 938 97.7 970
4 97.6 99.9| 104.9| 1000 983 99.3 96.6| 1079 90.0 97.8 973
5 97.6 99.4| 1029| 1000 98.3| 1021 95.2( 108.7| 102.6 98.1 97.6
6 97.6 99.3| 103.7| 1000 98.3| 1055 943 109.7| 1164 97.8 97.5
7 97.6 99.6| 104.4( 1082 983 99.8 923 1103 950 97.9 97.2
8 97.6 99.6| 103.7| 108.2 98.3| 106.2 948 118.7| 1043 97.7 974
9 97.6 99.6| 106.0( 108.2 98.3| 103.8 914 1143 106.6 97.9 97.5

10 97.6 99.7| 104.6( 108.2 983 99.0 932 1048 990 97.7 97.2

11 97.6 99.8| 1052 108.2 983 93.0 90.6 950 93.7 97.7 96.9

12 97.6 99.0| 1052 108.2 98.3 942 94.0 96.4 91.1 97.9 971

i ﬁfg 1?5,5 g 97.6 99.6|/ 104.0( 104.1 98.4| 100.5 943| 107.0{ 100.0 97.7 97.2
B £ tb (%) 0.0 0.0 1.7 41 -0.7 12 -5.3 5.5 44 -04 -0.3
1A 0.0 0.9 -01 0.0 0.0 3.8 -0.2 6.1 58 -0.5 -04

2 0.0 0.0 0.0 0.0 0.0 -2.8 -21 1.1 -9.7 -01 -0.2

i 3 0.0 -01 1.8 0.0 0.0 -1.9 4.8 -6.0 -4.5 04 03
4 0.0 0.1 1.1 0.0 -04 0.4 -2.2 5.5 -41 0.1 03

J=| 5 0.0 -0.5 -1.9 0.0 0.0 28 -14 0.7 14.0 03 03
6 0.0 -01 0.8 0.0 0.0 3.3 -0.9 0.9 13.5 -0.3 -01

Lt 7 0.0 0.3 0.7 8.2 0.0 -54 -21 05| -184 0.1 -0.3
;; 8 0.0 0.0 -0.7 0.0 0.0 6.4 2.1 1.6 9.8 -0.2 0.2
_ 9 0.0 0.0 22 0.0 0.0 -23 -3.6 -3.7 22 0.2 0.1
10 0.0 0.1 -1.3 0.0 0.0 -4.6 2.0 -8.3 =71 -0.2 -0.3
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i 3 0.0 04 0.7 0.0 -14 9.3 0.6 216 6.0 -0.7 -04
T 4 0.0 0.2 1.7 0.0 -04 6.2 -21 181 1.1 -0.5 -0.2
&l 5 0.0 -0.6 04 0.0 -04 0.8 -3.9 5.5 0.5 -0.5 -0.5
R 6 0.0 -0.6 1.2 0.0 -04 3.4 -6.6 24 21.8 -0.6 -04
Lt 7 0.0 -0.2 1.9 8.2 -04 04| -10.2 1.2 70 -01 -0.2
;; 8 0.0 -01 1.2 8.2 -04( -23 -9.8 2.5 0.9 -0.2 -0.2
_ 9 0.0 -0.2 3.6 8.2 -04( -0.2 -6.5 1.8 58 0.1 0.1
10 0.0 -01 22 8.2 -04( -18 -5.2 0.1 04 -0.2 -01

11 0.0 0.8 28 8.2 -04 -6.2 -5.7 -84 =31 -0.2 -0.3

12 0.0 0.0 3.0 8.2 -04| 57 2.6 -49( -114 0.0 -0.2




